H16 No.24 ( 04/6/24)
f(xy)= sin(%(x2 + Xy + yz)j
1) df (x,y)

of Va 7z

&:fxzco{df(x +xy+y)j Z(2x+y 2x+ycos(zx +Xy+Yy j

of Vd 72

@:fyzco{‘l(x +xy+y)j Z(x+2y x+2yco{zx + Xy +y? j

df (x,y) = { (2x + y)cos(%(x +XY+Y )j} {%(XJF 2y)cos(4(x2 +XY+Y )j}dy
2 (12
. T T T T . \/Eﬂ' 5\/571'

(:LZ) (fx(:LZ), fy(l’Z))_(z4CO{Z7J'ZSCO{Z7JJ_(_T'_ 3 J
3 @) (-1-1)

(a,b) (a.B) Do f(ab)  (a,8) (Uo w)  (ab)

(Vf Xa,b) =(f,(a,b), f,(ab))
Dy ) F (6 Y) = 06 Y) U+ £, y)-uy = ((£,00 ), £, (% 1) (u,0,)
(-1-1) (_ﬁ _ﬁj (1-1) (-1-1)
2 2
oy fL-D = <(f (L-D), f,(1-D) [-‘f_*f] =<(Z.1.co{’;}’;.(_1) CO{ZD [—‘f—fD
_| 7 N2 7w N2 _Q_Q -0
4 274 2 27 2
4 z="1(xYy) (ng]
V2 7, N2 7w 2
(0,17] (f,0D), f,(01),-1)= (Z 1-7,2-2-7,—1]
<(&’@ _ ] ( _O,y_lz_£J>:0
8 4 2

8 4

.'.&x+\/§”(y— )—(z ﬁ):o






